
ftfrnkBftfrnkBftfrnkBftfrnkB    

;q/Dh d;thA;q/Dh d;thA;q/Dh d;thA;q/Dh d;thA    

;wK 3 xzN/;wK 3 xzN/;wK 3 xzN/;wK 3 xzN/                                fbysh nzefbysh nzefbysh nzefbysh nze----80 nze80 nze80 nze80 nze    

                                    nKsfoe w[bKeDnKsfoe w[bKeDnKsfoe w[bKeDnKsfoe w[bKeD----20 nze20 nze20 nze20 nze    

                                    eeeeZZZZ [b nze[b nze[b nze[b nze----100 nze100 nze100 nze100 nze    

gqÙB gZso dh pDsogqÙB gZso dh pDsogqÙB gZso dh pDsogqÙB gZso dh pDso    

1a  gq;B Bza 1, 44 nzeK dk j't/rk fi;d/ fe 22 ;p gkoN j'Dr/.  jo Gkr d' nzeK tkbk j't/rk. 

 fJj gq;B nkpi?efNt NkJhg j'Dr/. fit/A fe wbNhgb  u'nkfJ;, ykbh EktK Go', ;jh$rbs 

 nkfd.  

2a gq;B Bza 2 s'A 17 sZe fszB nzeK tkb/ j'Dr/. fiBQK dk T[Zso fJZe iK d' tkeK ftZu fdZsk 

 ikt/rk. ftfdnkoEh Bz{ 16 gqÙBK ftZu'A e'Jh th 8 gqÙB jZb eoB/ j'Dr/.  

3a gqÙB Bza 18 s'A 20 sZe gqÙB 4 nze tkb/ j'Dr/. fJBQK gqÙBK ftZu nzdo{Bh S'N j't/rh.  

 

 

B'NL C= Choice Question 

 

gkm Bza  ns/ gkm dk BK    2 nze tkb/ 

pj[ftebgh 

gqÙB    

3 nzeK tkb/ 

gqÙB    

4 nzeK tkb/ 

gqÙB   

e[b nze 

 

gkm-1 o;kfJfDe fefonktK ns/ 

;wheoDK 

2 01,C 0 7 

gkm-2 s/˜kp yko ns/ b{D 2 01,C 0 7 

gkm-3 XksK ns/ nXksK 0 0 1,C 4 

gkm-4 ekopB ns/ T[;d/ :'fre  2 0 0 4 

gkm-5 sZsK dk nktosh 

torheoD 

2 1, C 0 7 

gkm-6 i?fte gqfefonktK 2 1, C 0 7 

gkm-7 ekp{ ns/ skbw/b 

gkm-8 iht gqiDB fet/A eod/ 

jB< 

2 0 1,C 8 

gkm-9 nB[tzfÙesk ns/ ftek; 2 0 0 4 

gkm-10 gqekÙ goktosB ns/ 

ngtosB 

2 1, C 0 7 

gkm-11 wB[Zyh nZy ns/ ozr 

fpozrk ;z;ko 

2 1, C 0 7 

gkm-12 fpibh 0 0 1,C 4 

gkm-13 fpibJh Xkok d/ gqGkt 2 1, C 0 7 

gkm-14 T{oik d/ ;'w/ 

gkm-15 ;kvk tksktoD 2 1, C 0 7 

gkm-16 e[dosh ;kXBK dk 

gqpzXD 

e[Zb gqÙB 22%2&44 8%3&24 3%4&12 80 nze 


